SOLVING SYSTEMS OF EQUATIONS BY
ELIMINATION

USE THE ELIMINATION METHOD FOR
SOLVING SYSTEMS WHEN YOU DON'T
HAVE A GRAPH

STEPS FOR SOLVING BY ELIMINATION
1.LINE UP THE VARIABLES

2.ADD THE EQUATIONS.
3.SOLVE FOR THE FIRST VARIABLE (X OR Y)

4.SUBSTITUTE THE VARIABLE FROM STEP 3 AND SOLVE FOR
THE OTHER VARIABLE.

5.CHECK: PLUG X AND Y INTO EQUATION.
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EXAMPLE 3: THE VARIABLES ARE NOT LINED UP
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F YOU DO NOT HAVE VARIABLES THAT CANCEL OUT, YOU
WILL NEED TO MULTIPLY TO GET TERMS THAT WILL CANCEL

FOR EXAMPLE: IF YOU WANT THE X TERM TO BE -4 MULTIPLY THE
7L ENTIRE EQUATION (EVERY TERM)
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HOW TO FIGURE OUT WHICH NUMBER(S) TO MULTIPLY:

| 1) PICK A VARIABLE (X OR Y)
| 2) MULTIPLY EACH EQUATION BY THE OPPOSITE COEFFICIENT

i terms are positive/negative
then your multiplic ation terms
are BOTH POSITIVE

i terms are both the same sign |
then you muMiplication terms
need fo be ONE POSITIVE and
ONE NEGATIVE
|
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~8x + 5y =12 -3x+30=8y “Ix+y=-2
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(MEANING THE X AND Y ARE ON THE LEFT, AND THE CONSTANT NUMBER IS ON THE
RIGHT

* GO TO [2NP] 5Y5-SOLVE (THE TAN KEY)
+ SELECTOPTION 1 2X2 LIN EQUs

* TYPE IN THE COEFFICIENT FOR THE FIRST X, PRESS ENTER UNTIL YOU GET TO THE
PLACE IN FRONT OF Y AND TYPE IN THAT COEFFICIENT. KEEP TYPING IN ALL
NUMBERS OF YOUR EQUATION

* GO TO SOLVE AND PRESS ENTER... TA-DA!

* IF YOU WANT TO SWITCH YOUR FRACTION ANSWER INTO A DECIMAL, PRESS THE
‘CHANGER' BUTTON RIGHT ABOVE THE ENTER KEY
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